



OPEN ACCESS

ARTICLE INFO

Received: 21/ 11/2024
Revised: 30 /11/ 2024
Accepted: 7 / 12/2024
Publish online: 10/12/2024

* Corresponding Author: Marwa Ismail Abbas Email:
marwa.i.abbas@aliraqia.edu.iq

 <https://orcid.org/0009-0008-7876-1308>

CITATION

Marwa Ismail Abbas. (2024). Estimation of liver function testes and IL 6 for pregnant women with hepatitis B and C within Baghdad teaching hospital. JMOB. 1;(4): 81-90.
<https://doi.org/10.58564/jmob.63>

COPYRIGHT



© 2024 Marwa Ismail Abbas. This is an open-access article distributed under the terms of the [Creative Commons Attribution License \(CC BY-SA 4.0\)](https://creativecommons.org/licenses/by-sa/4.0/). The use, distribution or reproduction in other forums is allowed, provided the original author(s) and the copyright owner(s) are credited and that the original publication in this journal is cited, in accordance with accepted academic practice. No use, distribution or reproduction is permitted which does not comply with these terms.

Estimation of liver function testes and IL 6 for pregnant women with hepatitis B and C within Baghdad teaching hospital

Marwa Ismail Abbas ¹ 

¹ College of Dentistry, Al-Iraqiya University, Baghdad , Iraq

Corresponding author: Marwa Ismail Abbas

Email: marwa.i.abbas@aliraqia.edu.iq

 <https://orcid.org/0009-0008-7876-1308>

Abstract

Liver inflammation is called hepatitis, which can go away on its own or get worse and turn into cirrhosis, fibrosis, or liver cancer. Liver function tests explore serious liver diseases progression and their impact, like viral hepatitis. Aspartate and ALT, are frequently elevated and discharged into the bloodstream following a hepatitis infection. The study's objective was to determine the levels of liver enzymes and IL 6 in pregnant women with hepatitis C and B virus groups at various stages of the illness. Blood samples were collected from 40 pregnant women infected with hepatitis who visited Baghdad Medical Hospital in Baghdad Governorate / Iraq for use in determining HBsAg, HCV, ALT, AST, ALP, Direct Bilirubin, and IL-6. The study result shows there are significant differences ($P \leq 0.05$) between the pregnant women with hepatitis B and C in the study samples; the number of pregnant women suffering from HBV in the studied group was 39 (65%) in comparison with the number of pregnant women suffering from HCV 21 patient (35 %). In our research, Total blood bilirubin (TSB) levels and liver enzymes were found to be significantly different ($P \leq 0.05$) between pregnant women with hepatitis B and C in this study. There were also big changes in the levels of AST. The average AST for HBV was 19.90 ± 5.77 , while 26.64 ± 5.11 for HCV. No big differences were found in the ALT or ALP levels, and IL-6 levels were not significantly different between the viral types, with a negative correlation. We conclude that there are significant differences in certain biochemical parameters between pregnant women infected with hepatitis B and C. Specifically, TSB and AST levels were notably higher in HCV patients.

Keywords: Liver function tests, hepatitis C, Hepatitis B, pregnant women, hepatic enzymes, IL-6

Introduction

Inflammation of the hepatic cells is called hepatitis. It is manifested by the invasion of hepatic cells by inflammatory cells and damage to hepatic tissue. This condition may present with minimal or absent clinical symptoms (1). Hepatitis is classified as acute when it persists for less than six months and chronic when it lasts longer. While some



patients may remain asymptomatic, others might exhibit symptoms such as jaundice, diarrhea, diminished appetite, abdominal discomfort, and vomiting (2). Hepatitis can go away on its own or get worse and turn into cirrhosis, fibrosis, or hepatocellular cancer. It is important to note that the hepatitis virus can be found in blood, saliva, seminal fluid, and even urine (3,4). Hepatitis B & C prevalence is impacted by various factors such as prior dental procedures, hospitalizations, genital mutilation, history of abortions, home births attended by traditional practitioners, blood transfusions, ear or nose piercings, body tattoos, and the transmission of sexually transmitted diseases (STDs) (5). Additional risk factors include shaving eyebrows, exposure to jaundiced individuals, receiving injections, snorting cocaine, and sharing razors, toothbrushes, or other personal items (6). A significant concern is the transmission of hepatitis B and C viruses from mother to child during labor and delivery (7). A lot of the time, this vertical transfer happens, and it can cause fetal and neonatal hepatitis, which can be very bad for the baby and could affect their mental and physical health later on (8). Various cell types can produce interleukin-6 (IL-6), like hepatocytes, macrophages, and T cells, in response to inflammatory stimuli. The production of IL-6 impacts the pathogenesis and progress of viral hepatitis, and their increasing levels lead to apoptosis and necrosis and escalate in the general hepatic inflammatory response (9). Additionally, IL-6 upgrades acute-phase protein production and triggers the hepatic innate immunity response, which is essential for combating viral infections (10). Furthermore, in chronic hepatitis infections, particularly hepatitis B and C, sustained elevated levels of IL-6 are related to the advancing of liver fibrosis and cirrhosis (11). Viral hepatitis in pregnant women and its relation with liver function tests is a neglected area of research in Iraq. Consequently, this study intends to investigate the levels of IL-16 and liver function tests of pregnant women diagnosed with liver hepatitis B & C infection.

Materials and Methods

Ethical approval

This study was conducted according to ethical standards and the Declaration of Helsinki. All participants signed an informed consent form. All the data used in this research collected with the permission of Baghdad teaching hospital .

Subject and blood collection

Blood samples were collected from 60 pregnant subjects who attended the medical Baghdad Teaching Hospital in Baghdad province / Iraq, from January 2024 to April 2024. The women's ages ranged from 18 to ≥ 48 . Venipuncture was performed to collect 5 ml of whole blood per participant. The samples were transferred to the laboratory in a cooled container. Each blood sample was centrifuged at 4500 rpm for 10 minutes and serum were collected and stored at -20 °C until various analyses were conducted.

Laboratory tests

All serum samples were underwent for the following tests:

Detection (HBs Ag) and (HCV Ab)



The HBsAg surface antigen was detected in blood serum samples using the HBsAg ELISA Test Kit (Plasmatec/USA), specifically designed for identifying HBsAg antigens in blood serum and plasma. A volume of 50 microliters of each blood sample was utilized, following the manufacturer's operational guidelines. The ELISA diagnostic kit (Bio kit/Spain) was also employed to detect antibodies to the hepatitis C virus (HCV Ab). The manufacturer's instructions conducted for both tests.

Liver function enzyme tests

The Aspartate Aminotransferase (ASR/ SGOT) and Alanine Aminotransferase (ALT/ SGPT) were measured by ready kit (Human, Germany), but ALP was measured according to methods described by BioMerieux. Likewise, the total serum Bilirubin (TSB) was estimated by (BIOLABO SA, 02160, Maizy, France).

Interleukin 6 (IL6) test

The serum levels of the studied IL-6 were determined using human-premixed multi-analyte kits (catalog number LXXAHM).

Statistical analysis

Analyzing quantitative data usually requires statistical analysis, which offers techniques for data description and basic inference for continuous and categorical data. The process included gathering information to test the link between two statistical data sets. All the statistics in this work are shown as frequency and percentage. For variables with normally distributed distribution, SPSS (2012) was applied for dependent t-test (two-tailed), and the independent t-test (two-tailed). Mann-Whitney U, the Wilcoxon test, and the Chi-square test were used for variables lacking a typically distributed distribution. at 0.05 is statistically significant (12).

Results

The Distribution of the study samples

Table 1 shows there are significant differences ($P \leq 0.05$) between the pregnant women with hepatitis B and C in the study samples. The number of pregnant women suffering from HBV in the studied group was 39 (65%) in comparison with the number of pregnant women suffering from HCV 21 patients (35 %).

Table 1: The Number and percentage of sample study according to viral type

Viral type	Number of patients	Percentage (%)
HBV Ag	39	65
HCV Ab	21	35
Total	60	100%
P-value	---	5.027 *
* ($P \leq 0.05$).		



The Relationship between Viral type and TSB level

Table 2 shows there are significant differences ($P \leq 0.05$) between the pregnant women with hepatitis B and C in the TSB level. The Mean $\pm$ SD of TSB level for HBV patients was (0.663 ± 0.14) in comparison with the TSB level for HCV patients (the Mean $\pm$ SD of TSB was (0.908 ± 0.84).

Table. 2: Relationship between Viral type and TSB

Viral type	Mean $\pm$ SD of TSB	Minimum	Maximum
HBV	0.663 ± 0.14	0.40	1.00
HCV	0.908 ± 0.84	0.40	4.10
T-test	0.242 *	---	---
* ($P \leq 0.05$).			

The Relationship between Viral type and AST level

Table 3 shows there's a significant difference at ($P \leq 0.05$) between the Viral type and AST level; the Mean $\pm$ SD of AST for HBV patients was (19.90 ± 5.77) in comparison with HCV patients, the Mean $\pm$ SD of AST was (26.64 ± 5.11).

Table. 3: Relationship between Viral type and AST

Viral type	Mean $\pm$ SD of AST	Minimum	Maximum
HBV	19.90 ± 5.77	11.00	31.00
HCV	26.64 ± 5.11	10.00	104.00
T-test	*6.505	---	---
* ($P \leq 0.05$).			

The Relationship between Viral type and ALT level

Table 4 shows there's no significant differences at ($P \leq 0.05$) between Viral type and ALT level, the Mean $\pm$ SD of ALT for HBV patients was (19.27 ± 5.12) in comparison with HCV patients, the Mean $\pm$ SD of ALT was (19.64 ± 9.73) .

Table. 4: Relationship between Viral type and ALT

Viral type	Mean $\pm$ SD of ALT	Minimum	Maximum
HBV	19.27 ± 5.12	12.00	30.00
HCV	19.64 ± 9.73	10.00	52.00
T-test	4.889 NS	---	---
NS: Non-Significant.			

The Relationship between Viral type and ALP level

There were no significant differences ($P \leq 0.05$) between the viral type and ALP level, as shown in Table 5. The mean $\pm$ SD of ALP for HBV patients was 45.22 ± 11.96 , and the mean $\pm$ SD of ALP for HCV patients was 48.52 ± 21.48 (Table 5).

Table. 5: Relationship between Viral type and ALP

Viral type	Mean $\pm$ SD of ALP	Minimum	Maximum
HBV	45.22 ± 11.96	22.00	62.00
HCV	48.52 ± 21.48	27.00	119.00
T-test	10.964 NS	---	---

NS: Non-Significant.

The Relationship between the Age groups and enzymes level

Table 6 shows there's a significant differences at ($P \leq 0.05$) between the Age groups the(18-30 and 31-48) at AST level with Mean $\pm$ SD (25.25 ± 16.54 and 16.72 ± 5.27) respectively , while for other Tests (TSB , ALT , ALP) the study shows no significant difference between the study groups as showed below .

Table. 6: Relationship between Age groups and enzyme level

Age group (year)	Mean $\pm$ SD			
	TSB	AST	ALT	ALP
18-30	0.807 ± 0.66	25.25 ± 16.54	20.53 ± 8.07	47.85 ± 17.95
31-48	0.676 ± 0.22	16.72 ± 5.27	16.63 ± 4.34	43.63 ± 12.83
T-test	0.418 NS	8.382 *	5.230 NS	12.061 NS

* ($P \leq 0.05$), NS: Non-Significant.

Comparison between HBV, HCV and IL-6 level

A look at Table 7 shows that there are no big differences ($P \leq 0.05$) between the viral type and the amount of IL-6. The mean $\pm$ SD of IL-6 for HBV patients was 0.184 ± 0.06 , and the mean $\pm$ SD of IL-6 for HCV patients was 0.159 ± 0.03 . the correlation between the viral type and IL-6 was negative (-0.29) .

Table.7: Comparison between HBV and HCV in IL-6 and correlation coefficient

Type of virus	Means $\pm$ SE
HBV	0.184 ± 0.06
HCV	0.159 ± 0.03
T-test	0.118 NS
P-value	0.665
The correlation: HBV and HCV in IL-6	-0.29 *

* ($P \leq 0.05$), NS: Non-Significant.

Discussion

Hepatitis is an inflammation of the liver marked by cells that cause inflammation in the organ's tissue. When hepatitis lasts less than six months, it is called acute (13). When it lasts longer, it is called chronic (14). More problems are likely to happen to the mother if she has viral hepatitis while she is pregnant. Hepatitis can be quickly passed from mother to child if the mother has it. There are a lot of mental and physical health problems that can happen later on because of this (15,16). It is said to be the most common cause of jaundice in pregnancy and one of the main reasons mothers die. This sickness can be given from mother to child if the mother gets acute Hepatitis B in late pregnancy, in the week after giving birth, or if she has been carrying HBsAg for a long time. HCV is most often caught during pregnancy or giving birth. With this background knowledge, health planners and program managers need to know about the spread of viral hepatitis during pregnancy (17, 18). Hepatic failure in pregnancy is most often caused by viral hepatitis around the world. In our research, Total blood bilirubin (TSB) levels and liver enzymes were found to be significantly different ($P \leq 0.05$) between pregnant women with hepatitis B and C in this study. The average TSB level for people with HBV was (0.663 ± 0.14) , and it was (0.908 ± 0.84) for people with HCV. There were also significant changes in the levels of AST. The average AST for HBV was 19.90 ± 5.77 , while 26.64 ± 5.11 for HCV. However, no differences were found in the ALT or ALP levels (HBV: 19.27 ± 5.12 ; HCV: 19.64 ± 9.73) or (HCV: 48.52 ± 21.48). AST levels significantly differed between age groups (18–30) and 31–48 (25.25 ± 16.54 versus 16.72 ± 5.27). IL-6 levels were not significantly different between the viral types. The mean IL-6 level for HBV was $0.184 \pm 0.06\%$, and the mean IL-6 level for HCV was $0.159 \pm 0.03\%$. This shows a negative correlation (-0.29) between the viral type and IL-6.

According to this study, more people had HBV infections than in Port Harcourt (4.9%), Jos (10.3%), and other places. That was not the same as the 21.3% found in Ibadan, the 23.9% and 15.1% found in two studies in Jos, or the 17.1% found among sex workers in Nasarawa state. Also, 18.2% of pregnant women in Zaria, Nigeria, and 7.3% of pregnant women in Kano, Nigeria, were said to have the disease. This may be because some studies did not use people from the same risk group (19,20,21,22). A new study looked at 2439 pregnant women and tested them for Hepatitis B and C. 7.3% were positive for anti-HCV, 2.2% for HBsAg, and 0.08% for both. They are not as good as ours, but they show a high rate of HCV (23), which is the same as ours. Our study was different from others. This could be because HBV and HCV are spread differently and are shaped by social, cultural, and environmental factors. It could also be because they are studied in different ways. However, be careful when comparing our work to the others because they were done differently. ELISA was used to look for antibodies in our work and to find the DNA of viruses in other studies (24). The current study differs from others in that it did not find any of the usual risk factors for HBV and HCV seropositivity, such as age, parity, or other sociodemographic factors.

In the future, researchers must look into what might have caused these kinds of findings (25,26). As liver cells are damaged over and over again, they respond with inflammation, fibrosis, regrowth, and finally, cirrhosis. It was found that test subjects had more ALT, AST, ALP, and TSB than control subjects. Something like this was found in an earlier study. It was found that ALT and AST are strongly and statistically positively linked. This fits with what another study found in people who had Hepatitis B(8). More alkaline phosphatase (ALP) and total serum bilirubin (TSB) were found in the blood of patients with chronic hepatitis B than in healthy people.



A bad AST, ALT, TSB, or ALP result was linked to HBV infection and could be used to help find and track the disease after the study. These enzymes, aspartate aminotransferase (AST), alanine aminotransferase (ALT), and direct bilirubin (DB), were much higher in the blood of people with chronic HBV than in healthy people who were not in the study. That proved the HBV infection had effects on the liver cells. The results of this study back up what Cheng said (27,28). Researchers have discovered that people who have chronic diseases have higher amounts of ALP, GPT, GOT, and TSB than people who are carriers. The rise in liver enzymes strongly points to damage to liver cells.

Another finding was that the amounts of ALP, GPT, GOT, and TSB in healthy people were average compared to the standard number for liver function tests (29). In this study, we looked at the serum levels of IL-6 in hepatitis B and C patients who were pregnant. Additionally, we compared the cytokine levels in patients with HB and HC viruses and looked for correlations between the serum levels of IL-6 and biochemical indicators of liver disease. Our data indicates a negative correlation -0.29 between viral type (HBV vs. HCV) and IL-6 levels. At the same time, a negative correlation means increasing or decreasing one variable. In this case, as the type of virus shifts from HBV to HCV, the IL-6 level tends to decrease slightly. The correlation of -0.29 suggests a weak inverse relationship, meaning that while the correlation exists, it is not strong, and other factors may be influencing the variability in IL-6 levels. Both HBV and HCV can cause chronic infections related to low-grade inflammation. A variation was seen in the degrees of hepatic cell inflammation depending on the patient's immune response and type of virus. The hormonal changes in pregnant women led to variations in the immune status, such as the suppression or activation and, consequently, the creation of severe inflammatory responses.

(30,31).

In conclusion, the significant differences between pregnant women infected with HBV and those with HCV regarding specific biochemical parameters were observed in this study. However, TSB and AST levels were notably higher in HCV patients, whereas no differences were seen in ALT and ALP levels. The results also displayed the influence of age on AST levels, with younger women showing higher values. Furthermore, no differences were seen between the viral types of infection. Additionally, a negative correlation was found between IL-6 and the type of viral hepatitis, displaying that HC revealed severe effects on liver function markers in comparison to HB in pregnant women, which needs more attention and healthcare.

DECLARATIONS

Funding

The author did not receive any source of fund.

Competing interests statement

No conflict of interest related with publishing of this article.

Ethics statement



The author approved that this research follows the journal's ethical guidelines as appeared on the journal's author guidelines page.

Author contributions

The author did all the work Conception, design, acquisition of data, analysis, interpretation, drafting revision and proofreading.

Acknowledgments

The author would like to thank Dr. Zainab Fadel for her support and mentorship

References

1. Jamal SA, Naqid IA, Hussein NR, Abdulqader SR, Nimet AA, et al. The prevalence of hepatitis B and C virus infections in the couples attending a premarital screening program in Zakho City, Kurdistan Region of Iraq. *Zahedan Journal of Research in Medical Sciences*. 2021;23(2):e99405. doi:10.5812/zjrms.99405.
2. Roger S, Ducancelle A, Le Guillou-Guillemette H, Gaudy C, Lunel F. HCV virology and diagnosis. *Clin Res Hepatol Gastroenterol*. 2021;45(3):101626. doi:10.1016/j.clinre.2021.101626.
3. Coppola N, De Pascalis S, Onorato L, Calò F, Sagnelli C, Sagnelli E. Hepatitis B virus and hepatitis C virus infection in healthcare workers. *World J Hepatol*. 2016;8(5):273-281. doi:10.4254/wjh.v8.i5.273
4. Hughes BL, Page CM, Kuller JA. Hepatitis C in pregnancy: screening, treatment, and management. *Am J Obstet Gynecol*. 2017;217(5):B2-B12. doi:10.1016/j.ajog.2017.07.039
5. Liu JY, Sheng YJ, Hu HD, et al. The influence of hepatitis B virus on antiviral treatment with interferon and ribavirin in Asian patients with hepatitis C virus/hepatitis B virus coinfection: a meta-analysis. *Virol J*. 2012;9:186. Published 2012 Sep 6. doi:10.1186/1743-422X-9-186
6. Geta M, Yizengaw E, Getaneh Z, Getahun T. Seroprevalence of Hepatitis B Virus Infection Among Patients Attending at Addis Alem Primary Hospital, Bahir Dar, Northwest Ethiopia. *Int J Gen Med*. 2021;14:405-411. Published 2021 Feb 10. doi:10.2147/IJGM.S298586
7. Torre P, Aglitti A, Masarone M, Persico M. Viral hepatitis: Milestones, unresolved issues, and future goals. *World J Gastroenterol*. 2021;27(28):4603-4638. doi:10.3748/wjg.v27.i28.4603
8. Wolf JM, De Carli S, Pereira VRZB, Simon D, Lunge VR. Temporal evolution and global spread of hepatitis B virus genotype G. *J Viral Hepat*. 2021;28(2):393-399. doi:10.1111/jvh.13431
9. Migita K, Abiru S, Maeda Y, et al. Serum levels of interleukin-6 and its soluble receptors in patients with hepatitis C virus infection. *Hum Immunol*. 2006;67(1-2):27-32. doi:10.1016/j.humimm.2006.02.025



10. Johnson C, Han Y, Hughart N, McCarra J, Alpini G, Meng F. Interleukin-6 and its receptor, key players in hepatobiliary inflammation and cancer. *Transl Gastrointest Cancer*. 2012;1(1):58-70. doi:10.3978/j.issn.2224-4778.2011.11.02
11. Zhou C, Zhang N, He TT, et al. High levels of serum interleukin-6 increase mortality of hepatitis B virus-associated acute-on-chronic liver failure. *World J Gastroenterol*. 2020;26(30):4479-4488. doi:10.3748/wjg.v26.i30.4479
12. SAS S. Statistical Analysis System, User's Guide. Version SAS Inst Inc. Cary, NC: USA; 2012.
13. Ryder SD, Beckingham IJ. ABC of diseases of liver, pancreas, and biliary system: Acute hepatitis. *BMJ*. 2001;322(7279):151-153. doi:10.1136/bmj.322.7279.151
14. Caccamo G, Saffioti F, Raimondo G. Hepatitis B virus and hepatitis C virus dual infection. *World J Gastroenterol*. 2014;20(40):14559-14567. doi:10.3748/wjg.v20.i40.14559
15. Lee CY, Tsai HC, Lee SS, et al. Higher rate of hepatitis events in patients with human immunodeficiency virus, hepatitis B, and hepatitis D genotype II infection: a cohort study in a medical center in southern Taiwan. *J Microbiol Immunol Infect*. 2015;48(1):20-27. doi:10.1016/j.jmii.2013.08.001
16. Elinav E, Ben-Dov IZ, Shapira Y, et al. Acute hepatitis A infection in pregnancy is associated with high rates of gestational complications and preterm labor. *Gastroenterology*. 2006;130(4):1129-1134. doi:10.1053/j.gastro.2006.01.007
17. Hill JB, Sheffield JS, Kim MJ, Alexander JM, Sercely B, Wendel GD. Risk of hepatitis B transmission in breast-fed infants of chronic hepatitis B carriers. *Obstet Gynecol*. 2002;99(6):1049-1052. doi:10.1016/s0029-7844(02)02000-8
18. Levy M, Koren G. Hepatitis B vaccine in pregnancy: maternal and fetal safety. *Am J Perinatol*. 1991;8(3):227-232. doi:10.1055/s-2007-999384
19. Ejele OA, Ojule AC. The prevalence of hepatitis B surface antigen (HBsAg) among prospective blood donors and patients in Port Harcourt, Nigeria. *Niger J Med*. 2004;13(4):336-338.
20. Otegbayo JA, Fasola FA, Abja A. Prevalence of hepatitis B surface and e antigens, risk factors for viral acquisition and serum transaminase among blood donors in Ibadan, Nigeria. *Trop Gastroenterol*. 2003;24(4):196-197.
21. Egah DZ, Banwat EB, Audu ES, et al. Hepatitis B surface antigen, hepatitis C and HIV antibodies in a low-risk blood donor group, Nigeria. *East Mediterr Health J*. 2007;13(4):961-966.
22. Batool A, Bano KA, Khan MU, Hussain R. Antenatal screening of women for Hepatitis B and C in an outpatient department. *J Dow Univ Health Sci*. 2008;2:32-35.
23. Erden S, Büyüköztürk S, Calangu S, Yilmaz G, Palanduz S, Badur S. A study of serological markers of hepatitis B and C viruses in Istanbul, Turkey. *Med Princ Pract*. 2003;12(3):184-188. doi:10.1159/000070757
24. Ahmad J, Taj AS, Rahim A, et al. Frequency of Hepatitis B and Hepatitis C in healthy blood donors of NWFP. *J Postgrad Med Inst*. 2004;18:343-352.
25. Ohto H, Terazama S, Sasaki N. Transmission of Hepatitis C virus from mother to infant. *N Engl J Med*. 1994;330:744-750. doi:10.1056/NEJM199403173301103.
26. Iannaccone M, Sitia G, Ruggeri ZM, Guidotti LG. HBV pathogenesis in animal models: recent advances on the role of platelets. *J Hepatol*. 2007;46(4):719-726. doi:10.1016/j.jhep.2006.12.013.
27. Houghton M. Hepatitis C viruses. In: Fields BN, Knipe DM, Howley PM, eds. *Fields Virology*. 3rd ed. Philadelphia, PA: Lippincott Raven; 1996:1035-1058.

28. Ssekamatte T, Isunju JB, Mutyoba JN, et al. Predictors of Hepatitis B screening and vaccination status of young psychoactive substance users in informal settlements in Kampala, Uganda. PLoS One. 2022;17(5):e0267281. doi:10.1371/journal.pone.0267281.
29. Khalid MD, Abdullah BA. Hepatitis C virus genotypes in Iraq. Iraqi J Biotechnol. 2012;11(2):475-480.
30. Zhang L, Miao L, Han F, Dou XG. Cytokine levels in serum of patients with chronic hepatitis C and its significance. Xi Bao Yu Fen Zi Mian Yi Xue Za Zhi. 2011;27:301-303.
31. Ribeiro CRA, de Almeida NAA, Martinelli KG, et al. Cytokine profile during occult hepatitis B virus infection in chronic hepatitis C patients. Virol J. 2021;18(1):15. Published 2021 Jan 12. doi:10.1186/s12985-021-01487-2

